NAME: __________ANSWERS__________

REVIEW #3


ITA

Define the following using complete sentences.

Mean-  Average
Median-  Middle number when data items are order from least to greatest
Mode-  Most occurring data item
Outlier-  Data item that doesn’t fit with the other items. “outsider”
Round the following to the indicated place value.

 3.  63.4752 to the nearest tenths.


4.  3216.248 to the nearest unit.


___63.5________




_____3126________
Estimate by rounding.
 5.  
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Estimate the following products and quotients. 
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Estimate by clustering.
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____________________ = 112 or 105
Solve the following algebraically.
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   N = 7.42





p = - 35.7


v = - 10.373
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Y = - 54.4



m = 2.02



x = 9.6
Substitute into the correct formula, then solve.
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	23.  John traveled 816 km in twelve  hours.  At what rate was he traveling?
	24.  Mr. Skibsted being a meteorologist claimed the temperature in Storm Lake, Iowa was 30
[image: image17.wmf]°

C.  What temperature would that be in Fahrenheit?
	25.  Mr. Wilbur listens to crickets at night before bed.  We counted a cricket chirping 80 times in a minute. Help him calculate the temperature in Fahrenheit. 


     ____________________ 

     ____________________  

     ____________________ 

            68 km/hr                                   86 degrees F




75 degrees F
Solve for the median, mean, and mode.  Name any outliers.  You must show your work.  If necessary, round your answers to the nearest tenth.

26.  8, 11, 9, 1, 10, 11, 12, 8, 11

median =  10

mean =
      9

mode =     11

outliers =    1
27.  63, 67, 64, 63, 58, 63, 69, 71, 63, 66

median =   63.5

mean =   64.7

mode =  63

outliers =   none
28.
I shopping at Cabela’s for a fishing trip I was taking to Alaska.  I found a rod and real for $125.75 and rain gear for $200.  I wrote a check for $325.75.  My new balance in my checkbook was $247.59.  What was my checkbook balance before I bought my new fishing gear? Write and equation and solve.





b-325.75=247.59

                 



b = $573.34
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